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120 A 3 1. 2mR 113, 650| (196, 360)| 109, 050| (191, 760) |+ 1,020| (1,840)| xn&ExR 980| (1,800)| X M&EXR
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Bk s |- 2BR 107,770] (190, 480)| 104, 710] (187, 420)| + 960| (1,780)| xm&Ex 930| (1,750)| x &k
#, 7 190, 480 187, 420 + 1,780 X JNER 1, 750 X JE R
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¥T ) " d#sil | 2,700] 3,000] 1,900 1,900
TIA | g2 |[4BEER atistg | 7,100] 7,900 4 900] 4, 900
i 3 ® R 91 A~ 1051 bt | 3,900 4,300| 2700 2 700
; 40X IEE X MEA 3,500 | 3,900 | 2,500 | 2, 500 : : ' '
805 o | 3 [ 2B} | 4720xmEAK AREAR ol | 3400 3800 2300 2 300
T ) " d#sil | 3,000 3,400] 2100] 2 100
BIA | gz |[4EELER atisls | 6,300) 7,100 4 400] 4, 400
N 3 ® R 106 A~ 1204 bkt | 3,500) 3,900| 2 400 2 400
; 40X NEE X MEA 3,100 | 3,400 | 2,200 | 2,200 : : ' '
0L e |3 [ 2mB) | 4130xmEAK AREAR ol | 3000 3 400| 2100 2 100
16/100[ T ) " d#sil | 2,700] 3,000] 1,900 1,900
E g | e [4BHLER atwhh | 5500] 6 200] 3, 900] 3 900
n 3 ® R 121 A~ 1354 bkt | 3,000 3,400| 2 100| 2 100
; 30X NEE X ME A 2,800 | 3,100 | 2,000 | 2, 000 : : : '
1008 [T [T 2&R| | 3 670xmEAR B bl | 2,600 2900| 1,800 1,800
¥T ) " d#il | 2400] 2.600] 1,600 1,600
101A | op [4BULR attitg | 6 100] 6 800[ 4 200] 4,200
n 3 ® R 136 A~ 150.A bkt | 3,300] 3,700| 2300 2 300
30X NEE X MEA 3,100 | 3,400 | 2,100 | 2, 100 : : : '
non oo 2&R| | 3 300xmEAK B il | 2,900] 3,200| 2000 2 000
T % 7 ddish | 2,600 2 900| 1,800| 1,800
MA |z [4BULR atttg | 5500] 6 200( 3, 900] 3,900
i 3 ® R 151 A~ 180.A bkt | 3,000 3,400| 2 100| 2 100
20X NEE X MEA 2,800 | 3,100 | 2,000 | 2, 000 : : : '
1208 o 2&R| | 2750xmEAK B b | 2,600) 2900| 1,800 1,800
T % 7 dibis | 2,400 2600] 1,600 1,600
1218 | oz [ABULR atttg | 5 100] 5700[ 3,500] 3,500
i 3 ® R 181 A~ 210A bkt | 2800) 3,100| 1,900 1,900
o 20X INEE X MEA 2,600 | 2,900 | 1,800 | 1,800 ' : : '
106 o[ 2&R| | 2 360xmEAK B il | 2400) 2,700| 1,700 1,700
T % 7 ol | 2,200 2 400] 1,500| 1,500
1BIA | oz [4BULR atttg | 5500] 6 200( 3,900] 3,900
i 3 ® R 211 A~ 2404 bkt | 3,000 3,400| 2 100| 2 100
20X INEE X MEA 2,800 | 3,100 | 1,900 | 1,900 : : : '
oA o2&k | 2 060xmERAK B il | 2,600 2900| 1,800 1,800
T % 7 dibis | 2,400 2600] 1,600 1,600
WA |z [4BULR atttg | 5400] 6 000[ 3 700] 3, 700
i 3 ® R 241 A~ 2704 bkt | 2900 3,300| 2000 2 000
10 X MEE X MEA 2,600 | 2,900 | 1,800 | 1,800 ' : : '
oA o[ 2&R| |1 80xmEAK B il | 2,500) 2800| 1,800 1,800
T £l [ d#sbt | 2.300] 2500] 1,600 1,600
BIA | oz [4BULR attiig | 4,800] 5 400[ 3, 400] 3,400
i) 3 ® R 271 A~ 300.A bkt | 2600 2900| 1,800 1,800
10 X MELE X ANELA 2,400 | 2,700 | 1,700 | 1,700 ' : : '
1608 [ [ 2&R| |1 6s0xmEAK PRSI\ i | 2,300] 2500| 1,600 1,600
¥T £l [ d#sl | 2,000 2300] 1,400 1,400
161A | oz [4BULR atttg | 5400] 6 000[ 3 700] 3,700
i) 3 ® R 301 A~ bkt | 2900 3,300] 2000 2 000
10 X MELE X ANELA 2,600 | 2,900 | 1,800 | 1,800 ' : : '
MOA g [l 2&R| | 150 mEAK PRSI\ il | 2,500) 2800| 1,800 1,800
¥T £l [ d#sbt | 2.300] 2500] 1,600 1,600
)e [ABUER atiils | 4,800] 5 400 3 400 3 400
1714 3 ® R bkt | 2600 2900| 1,800 1,800
; 2,500 | 2,700 | 1,700 | 1,700 ' ' : '
SE o1 28R i | 2,300] 2500| 1,600 1,600
£l [ d#sbt | 2,000 2300] 1,400 1,400
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=2 Iz BT | ;
R4 | ERED WS | |5y pamaem | A2 ALMAEM| A0 BLLLEE | £TOLRALET | |BON)MEER i??ﬁ%%éé
FTo5a FToma P [ TP To5A ELTORNES
© o) @ ® ® ®
Lol LR
3 ® Rl _[6+®+®+) (®+D+®+M) (®+D+®+) (®+D+®+®) (12, 800 (48,120
10N 1. 28BR x 1/100 x 2/100 x 3/100 x 4/100 +120 X fn&E =) +480 X fin&E =)
T El B X AH
1A 4 ER
NS 3 & F5 |0+0+0+®) |@+0+0+®) |@+D+@+®) |(®+D+®+0) (6, 400 (24, 060
200 1. 2&R x 1/100 x 2/100 x 4/100 x 5/100 +60x M) | | +240 x nEE)
FT El B X AH
n ImUER
5 3 & B |(0+0+0+®@ |@+D+0+D®) |@+D+@+D®) |(O+D+®+D) (4, 260 (16, 040
304 1. 2&R x 1/100 x 3/100 x 4/100 x 5/100 +a0x ) || +160x mE®)
FT El B X AH
Sn ImUER
N 3 & B |(0+0+0+®@ |@+0+0+D®) |@+D+@+D®) |(@+D+®+D) (3, 200 (12,030
40N 1. 2&R x 1/100 x 3/100 X 4/100 x 5/100 +30x M) || +120x mE)
FT El B X AH
r ImUER
5 3 & B |(0+0+0+® |@+0+0+D®) |@G+D+@+D®) |@+D+®+D) (2, 560 (9,620
BOA YT x 1/100 x 3/100 x 4/100 x 5/100 120 % E) 490 X B )
FT El B X AH
- ImUER
5 3 & B |(0+0+0+®@ |@+D+0+D®) |@+D+@+D®) |(O+D+®+D) (2,130 (8,020
60A YT x 1/100 x 3/100 x 4/100 x 5/100 100 % E) 480 X B )
FT El B X AH
NS 3 & B |(0+0+0+® |@+0+0+D®) |@+D+@+D®) |(O+D+®+0) (1,820 (6,870
704 T o2mR X 1/100 X 3/100 X 4/100 x 5/100 +10% M) 60X A
FT N B X AH
NS 3 & B |(0+0+0+®@ |@+0+0+D®) |@G+D+@+D®) |(O+D+®+0) (1, 600 (6,010
80A T o2mR X 1/100 X 3/100 X 4/100 x 5/100 +10% M) 60X A
FT N B X AH
NS 3 & B |(0+0+0+® |@+0+0+D®) |@G+D+@+D®) |@O+D+®+0) (1, 420 (5, 340
90N T 2mR X 1/100 X 3/100 X 4/100 x 5/100 +10% M) 50X A
16100 FT N B X AH
hizh 91 A 4@ ER
NS 3 & B |(0+0+0+® |@+0+0+D®) |@+D+@+D®) |(O+D+®+0) (1, 280 (4,810
1004 T o2mR x 1/100 x 3/100 x 4/100 x 6/100 +10% M) 40X A )
FT N B X AH
s 3 & B |(0+0+0+®@ |@+0+0+D®) |@G+D+@+D®) |(O+D+®+0) (1,160 (4,370
110N 1. 2®\R X 1/100 X 3/100 X 4/100 X 6/100 +10X InExR) +40 X INEX)
FT N B X AH
A SmHER
o 3 m B |(60+0+0+® |@+0+0+D®) |@G+D+@+D®) |(O+D+®+0) (1, 060 (4,010
120X 1. 2®\R X 1/100 X 3/100 X 4/100 X 6/100 +10X InExR) +40 X INEX)
FT N B X AH
1A SmHER
s 3 & B |(0+0+0+®@ |@+0+0+D®) |@G+D+@+D®) |(O+D+®+0) (980 (3,700
130X 1. 2®\R X 1/100 X 3/100 X 4/100 X 6/100 +10X InExR) +30x NEX)
FT N B X AH
31 A SmHER
s 3 m B |(0+0+0+® |@+0+0+D®) |@G+D+@+D®) |(O+D+®+0) (910 (3,430
140N 1. 2®\R X 1/100 X 3/100 X 4/100 X 6/100 +9x INER) +30 X NEX)
FT N B X AH
A SmHER
s 3 m B |(60+0+0+® |@+0+0+D®) |@G+D+@+D®) |(O+D+®+0) (850 (3, 200
150 A 1. 2®\R X 1/100 X 3/100 X 4/100 X 6/100 +9x INER) +30X NEX)
FT N B X AH
. LU ER
o 3 & B |(0+0+0+® |@+D+0+D®) |@G+D+0+D®) |(O+D+®+0) (800 (3,000
160 A 1. 2®R x 1/100 x 3/100 X 4/100 x 6/100 +8Xx InER) +30 x pnE =)
FT N B X AH
o1 A SmUER
o 3 & B |(0+0+0+® |@+0+0+D®) |@G+D+0+®) |(O+D+®+0) (750 (2,830
170 A 1. 2®R x 1/100 x 3/100 X 4/100 x 6/100 +8Xx InER) +20 x pnE =)
FT N B X AH
SmUER
1714 3 & B |(60+0+0+® |@+D+0+D®) |@G+D+0+D®) |(O+D+O+0) (710 | @en
Bk 1. 2®R x 1/100 x 3/100 X 4/100 x 6/100 +7 X INER) +20 x pnE =)
El B X AH




BEREEFRY

: o] EREERH
o | =a £ } SnoMAS BBT 554
8 | maxs | 2E | nxs ShEBARS
®
@ @ & @ @
_ [AmutR
513 & gl | 31,99
104 as |1 2BR +320 M)
T i EN [zl X N#
_ [4mutR
Hz\\% 25 13 B R (15, 990
204 e |12 2ER +160x M)
A I £ 7 x MM
_ [4moER
2%% 15 & #| | aoee
30A e |12 2ER +100x FEK)
I £ 3 x MM
_ [4mbER
3%% 515 & 5| | 70
LN P ENY Y +80X IHE
R I £ 3 x MM
_ [4moER
Mﬁa 515 & w5 | 630
NI I ENY Y +60X A
A I £ 7 x MM
_ [4moER
5%% 515 & 5| | 6w
N P ENY Y +50X I
I £ 3 x MM
L [ABULR
ewgg 515 & 7| | w@sn
oA T 2me +40X A
FT ~ El 3 X N
L |[ABULR
mﬁe 515 & 7| | @ow
oA 1. 2mk +40X A
FT ~ El 3 X N
L [ABULR
mﬁe 15 & 7| | @
Ve | o [ 2BE *ﬁ””ff; G~D BERC, ) )
T B 7
0 =[F 74
g g [4BALR X Bl 5 WEE
9%5 153 & 7l | @i
LS I ENY Y +30X M)
FT ~ El 3 X N
L |[ABULR
101555 515 & 7| | @
T10A e |1 2R +20x NEEK)
T i E) =] X N
T
]WLﬁﬁs 515 & 7| | @
1204 e |1 2R +20x NEEK)
EY i E) =] X N
T
12;555 15 & 7| | @
oA L 2mR +20x )
EY i E =] X N
T
]3L§ﬁs 15 & 7| | @
1404 e |1 2R +20x NEEK)
EY i E) =] X N
T
MKE 15 & 7 | @
150A e |1 2EE +20x NEEK)
EY i E =] X N
T
Pk e e | @000
160A 1o 1. 2% +20x M)
ENY i E =] X N
T
%k e e | @880
RLZS P KNS 1) +10x )
ENY i E =] X N
T
e |2 & & a7
Bk - [1. 2miR +10X hnE =)
% |u 2 X B




RELDEEXS ©

BREZFMNH |

ImRmERENY
BB x| BE | mpxs REBEBMRE | REEEMIAT REBEBERE REEHURE
=% =5 ERDEM ERDEM MBHE S
GE1) GE1) Gx1) GE1) mE 1
©) @ ® @ ® ® @ @
oz [ABULER 246,810] (254, 760)[ 193,510] (201, 460)|+[ 2 440] (2.510)] xmm&= | 1,910] (1,980)] x &=k (7,950) [ (70x mEE)
3 m = 254,760] (318, 740)| 201, 460| (265, 440)|+| 2 510] (3,070)| xm&= | 1, 980| (2, 530)| x &= 7, 950 70 X MEE
10A e |12 2R 318,740| (398, 320)| 265, 440| (345, 020)|+| 3. 070] (3.870)| xm&= | 2 530| (3 330)| xmE*E
T | U7 (g [ 398, 320 345, 020 +| 3,870 xmEx | 3330 X NEE
A oe [ABULER 133,890 (141,840)| 107,240] (115, 190)|+| 1, 320] (1,390) x &= | 1,050] (1,120)] x pngiz (7,950) [ (70x mEE)
NS 3 m = 141,840| (205, 820) 115, 190] (179, 170)|+| 1.390] (1,940)| xm&== | 1,120 (1,670)| x mE= 7, 950 70 X MEE
204 e |12 2ER 205, 820] (285, 400)| 179,170] (258, 750) | +| 1,940] (2. 740)| xm&= | 1 670| (2, 470)| x &=
FT |7 Im 3 285, 400 258, 750 +| 2740 xmgx | 2470 X N
21 A re [ABULER 96, 130] (104,080)| 78,360] (86, 310)| + 940] (1,010)] xmE=x 760]  (830)] xEE 7,950  (7oxmEk)
) 3 ®m R 104,080| (168,060)[ 86, 310] (150,200)|+| 1,010] (1,560)| x mEx 830] (1,380)| x mE= 7,950 70 X MEE
30A e |12 2ER 168, 060| (247, 640)| 150,200] (229, 870)|+| 1,560] (2. 360)| x &= | 1,380] (2, 180)| x gz
FT |7 Im 3 247, 640 229,870 +| 2360 xmgx | 2180 X INEHE
3 )e [AEMLR 77,640] (85,590)| 64,310] (72, 260)|+ 750]  (820)] x mnEE 620] (690)] x mnE = (7,950 (70X mE=)
) 3 ®m R 85,590| (149,570)| 72 260| (136, 240) |+ 820 (1,380)| x mE=x 690] (1,240)| x mEE= 7,950 70 X MEE
40A e |12 2ER 149,570 (229,150)| 136, 240] (215, 820)|+| 1,380] (2. 180)| x &= | 1, 240] (2, 040)| x gz
FT |7 Im 3 229, 150 215, 820 +| 2180 xmgx | 2,040 X INEHE
4 A )e [AEHLR 72,410] (80,360)| 61,750] (69, 700) |+ 700]  (770)] x mEE 590] (660)] x mnE=® (7,950 (70X mE=)
) 3 ®m R 80, 360| (144,340)| 69,700 (133, 680) |+ 770] (1,320)| x mE=x 660] (1,220)] x mE= 7,950 70 X MEE
B50A e |12 2ER 144,340] (223,920)| 133, 680] (213, 260)|+| 1,320 (2 120)] x &= | 1,220] (2, 020)| x g
FT |7 Im 3 223,920 213, 260 +| 2120 xmgx | 2,020 X N
N )s [ABUER 63, 330] (71,280)| 54, 450] (62, 400)| + 610] (680)] x MEX 520] (590)] x X 7,950  (7oxmEk)
) 3 ®m R 71,280| (135,260)| 62 400 (126, 380) |+ 680| (1,230)| x m&EE 590] (1,140)| x = 7,950 70 X MEE
60A e |12 2ER 135,260| (214,840)| 126,380] (205 960)|+| 1,230] (2 030)| x &= | 1,140] (1,940)| x g
FT |7 Im 3 214, 840 205, 960 +| 2,030 xmgx | 1,940 X g
61 A pp [4BHLER 56,920 (64,870)| 49,310] (57, 260) |+ 550]  (620)] x mEE 470]  (540)] xfnE®E (7,950  (Foxm#Ex)
) 3 ®m R 64,870 (128,860)| 57,260| (121,240) |+ 620 (1,170)| x &= 540] (1,090)| x mE= 7,950 70 X MEE
70A e |12 2ER 128,850| (208, 430)| 121, 240] (200, 820)| +| 1,170 (1,970)| x &= | 1,090] (1,890)| x pn&z
FT |7 Im " 208, 430 200, 820 +| 1,970 xmgx | 1,890 Y IEES
N pp [4BHLER 52,170 (60,120)| 45,510] (53, 460) [+ 500]  (570)] xmE® 430]  (500)] x fnE®E (7,950  (7oxm#Ex)
) 3 ®m R 60,120 (124,100)| 53, 460| (117, 440) |+ 570] (1,120)| xmE=x 500] (1,050)| x mE= 7,950 70 X MEE
80A i |12 2ER 124,100| (203, 680)| 117, 440] (197,020)|+| 1,120] (1,920)| x &= | 1, 050] (1,850)| x pn&iz
FT |7 Im " 203, 680 197, 020 +| 1,920 xmgx | 1,850 Y IEES
N )e [ARUER 48 430] (56,380)| 42,510] (50, 460) |+ 460]  (530)] x mEE 400]  (470)] xfnE®E (7,950  (Foxm#Ex)
) 3 m R 56,380| (120,360)| 50, 460| (114, 440) |+ 530 (1,080)| x mE=x 470 (1,020)| x mEg= 7,950 70 X MEE
90A i |12 2ER 120,360| (199, 940) | 114, 440] (194,020)| +| 1, 080] (1,880)| x &= | 1,020] (1,820)| x &z
15/100 FT |7 Im " 199, 940 194, 020 +| 1,880 xmgx | 1,820 Y IEES
gy 0 hm [4HHMLER 41,840 (49,790)| 36,510| (44, 460) |+ 390  (460)| x g 340]  (410)| xR (7,950)| (70 pnErs)
N 49,790| (113,770)| 44, 460| (108, 440) | + 460| (1,020)| x mE=E 410 (960) | x mE= 7,950 70 X MEE
00A o1 2&R 113,770] (193,350)| 108, 440 (188, 020)|+| 1,020 (1.820)] x mzE= 960| (1,760)| x mnE®
FT |7 Im " 193, 350 188, 020 +| 1,820 xmgx | 1,760 Y IEES
01A | g [4BELER 39,760] (47,710) 34,910] (42, 860)|+ 370]  (440)] xmE=x 330]  (400)] xfnE®E (7,950  (7oxm#Ex)
" 3 ®m R 47,710] (111,690)| 42 860| (106, 840) [+ 440| (1,000)| x mEE 400 (950)| x = 7,950 70 X MEE
oA o1 2&R 111,690 (191,270)| 106, 840] (186, 420)|+| 1,000] (1,800)] x & 950| (1,750)| x o=
FT |7 Im 5 191, 270 186, 420 +| 1,800 xmgx | 1,750 X Mg
A | g [4BELER 37,980 (45,930)| 33,540] (41,490)|+ 360]  (430)] xmE=® 310]  (380)] xfnE®E (7,950  (Foxm&Ex)
o 3 m R 45,930| (109,910)| 41,490| (105, 470) |+ 430  (980)| x mEE 380 (930)| xmmE® 7,950 70 X Mg R
1208 o1 2&R 109,910| (189, 490) | 105, 470 (185, 050) | + 980] (1,780)| x mE= 930| (1,730)| xfnE®E
FT | T Im 5 189, 490 185, 050 +| 1,780 xmgx | 1,730 X Mg
1A | g [ABELER 36,480] (44,430)| 32,380] (40, 330) |+ 340]  (410)] xmE=x 300]  (370)] xfnEE (7,950  (Foxm&Ex)
o 3 m R 44,430| (108,410)| 40,330 (104, 310) |+ 410]  (960)| x mEE 370]  (920)| xmnE® 7,950 70 X g K
BOA o1 2&R 108, 410| (187,990)| 104, 310 (183, 890) [+ 960 (1,760)| x mE= 920] (1,720)| x =
FT | T Im 5 187, 990 183, 890 +| 1,760 xmgx | 1,720 X Mg
BIA | g [SBELER 35,230] (43,180)[ 31,420] (39, 370)| + 330 (400)] xmE=® 290]  (360)] xnEE (7,950  (Foxm&Ex)
o 3 m R 43180| (107,160)| 39,370 (103, 350) |+ 400|  (950)| x M= 360 (910)] xmmEx 7,950 70 X g K
U I Ny T 107,160| (186, 740)| 103,350 (182, 930) [+ 950] (1,750)| x mE= 910] (1,710)| xfnE=
FT | T Im 5| [ 186, 740 182, 930 +| 1780 xmEE | 1,710 X IEE
A | g [4BELER 34,120] (42,070) 30,560] (38,510)|+ 320 (390)] x mE=® 280] (350)] xfnEE (7,950  (Foxm&Ex)
o 3 m R 42,070 (106,060)| 38,510 (102, 490) |+ 300]  (940)| xmE=x 360 (910)| xmmEx 7,950 70 X Mg R
oA o1 2&R 106, 050| (185, 630) | 102, 490 (182, 070) [+ 940] (1,740)| x mE=x 910] (1,710)| xfnE=
FT | T Im g 185, 630 182, 070 +| 1,740 xmgx | 1,710 X MNEHE
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FT |7 Im gl | 261, 260 236, 860 +[ 2490 XMEE | 2, 250 X INELE
21 A ) 4L EIR 88, 450 (95, 660) 72,190 (79, 400) | + 860 (930) | xm&E=x 700 (770) | xhn&Ex (7, 210) (70 X finE =)
S 3 B & 95, 660| (154,390)| 79,400] (138,130)|+ 930] (1, 420)| x % 770] (1, 260) | x mEE 70100 70xmE®
30A 38 1. 2®mR 154, 390| (226, 480)| 138, 130| (210, 220) |+ 1,420 (2,140)| x &R 1,260( (1,980)| xm&Ex
FT |7 Im w| | 226, 480 210, 220 +[ 27140 xE®E | 1,980 X INELE
31A ) 4L EIR 71,310 (78, 520) 59, 110 (66, 320) | + 690 (760) | xmn&E=x 570 (640) | xfn&Ex (7, 210) (70 X finE =)
S 3 B & 78,520 (137,250)| 66,320 (125, 050) |+ 760] (1, 250) | x % 640] (1,130)| x mE=® 70100 70xmE®
40N 38 1. 2®mR 137,250| (209, 340)| 125, 050| (197, 140) |+ 1,250| (1,970)| xn&ExR 1,130( (1,850)| xm&Ex
FT |7 Im gl | 209,340 197, 140 +[ 1. 970 X E®E | 1,850 X INELE
IPN Py 4@ ER 66, 440 (73, 650) 56, 670 (63, 880) | + 640 (710) | xm&E=x 540 (610) | xm&ExX (7, 210) (70x fnE=x)
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50 A 32 1. 2®mR 132,380| (204, 470)( 122,610| (194, 700) |+ 1,200 (1,920)| xfn&ExR 1,110( (1,830)| xm&Ex
FT |7 Im gl | 204, 470 194, 700 +[ 1,920 xmE= | 1,830 X INELE
51 A ) 4L EIR 58, 110 (65, 320) 49, 970 (57,180) | + 560 (630)| xmn&E=x 480 (650) | x fn&Ex (7, 210) (70 X finE =)
S 3 B & 65,320 (124,050)| 57,180 (115,910)|+ 630] (1,120)] x % 550] (1,040)| x mE* 70100 70xmE®
60.A 38 1. 2®mR 124,050| (196, 140)| 115,910| (188, 000) |+ 1,120 (1,840)| x &R 1,040( (1,760)| xm&ExX
FT |7 Im w| | 196 140 188, 000 +[ 1,840 X E®E | 1,760 X INELE
6IA | gz |[4EEER 52,230] (59,440)| 45 260] (52, 470)|+ 500] (570)] x mEE 430]  (500)] x mEE 7,210 (G0x mEX)
N 3 B & 59,440 (118,170)| 52,470 (111, 200)|+ 570] (1, 060)| x Mm% 500|  (990)| x mE®E 70100 70xmE®
70N 3 1. 2®mR 118,170| (190,260)| 111,200| (183, 290) |+ 1,060| (1,780)| xn&Ex 990| (1,710)| xfnE=x
FT |7 Im gl | 190, 260 183, 290 +[ 1,780 xmE=E | 1,710 X B E
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7, 7 167, 850 165, 140 + 1, 560 X B R 1,530 X NE R
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